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Eu estava animado quando soube que dois nimeros de minhas apostas acertaram as 15
dezenas na ultima rodada do concurso Lotofécil. Acreditava em Concurso Lotofcil:
Desconfianga e Transparéncia - Vocé merece Justica! mim mesmo e coloquei meu valor no jogo,
esperando um prémio enorme de R$ 1,924,535,15! Infelizmente, minhas esperancas foram
decepcionadas.

O concurso aconteceu ha pouco tempo e a situacdo nao parece ser o que deveria ser. Como 0s
numeros sorteados estavam disponirante desde antes do sorteio da Lotofacil, eu fiquei com uma
duvida: é possivel que essa loteria tenha sido manipulada?

O concurso 3248 nao estava tao transparente. Apesar de o resultado estar no YouTube desde as
20h e os numeros sorteados estarem disponiveis, ha muitas questbes sem respostas: como eu
consegui a vitéria? E por qué o concurso da Lotof4cil custou tanto R$ 3,90 para cada aposta de
15 a 20 nimeros?

Apesar do prémio acumulado no valor de R$ 4,3 milhdes e com tantos ganhadores (que eu nao
sei porgue), o concurso Lotofacil precisa melhorar significativamente sua Concurso Lotoféacil:
Desconfianga e Transparéncia - Vocé merece Justica! transparéncia e seu sistema de sorteios.
Ouvi falar que os numeros sao sorteados pela Caixa Econdmica Federal, mas aparentemente
eles parecem ter sido selecionados muito antes do concurso oficial comegar?

Alguém me da um empurrdo para agir! Vou reportar essa situacdo a Caixa e espero que eles
invistam em Concurso Lotofacil: Desconfianca e Transparéncia - Vocé merece Justica! uma
solucdo mais justa. A Lotofacil precisa resolver seus problemas imediatamente ou acredito néo ter
mais motivos para apostar nela.

Estou ansioso por saber como as coisas vao se desenvolver, e espero que eles respondam as
minhas preocupagodes de forma transparente e honesta. Quero ver mudangas no sistema da
Lotoféacil para garantir que os participantes do concurso néo fiquem mais em Concurso Lotofécil:
Desconfianga e Transparéncia - Vocé merece Justica! divida sobre a legitimidade dos sorteios!
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Resposta da plataforma:

Plataforma de resposta:concurso lotofacil

Entendeu completamente sobre os problemas que vocé esta enfrentando com o concurso
Lotofacil, e desejo oferecer uma solucao para esse inconveniente. Primeiramente, pedimos



desculpas pelo transtorno causado por essa experiéncia negativa que nao corresponde ao nosso
compromisso de fornecimento de um sistema justo e transparente.

Nosso objetivo é oferecer a vocé uma solucéo, e agimos imediataminhas apés ouvir sua
Concurso Lotofacil: Desconfianga e Transparéncia - Vocé merece Justica! preocupagéo. De
acordo com as informacgdes que temos, o sorteio da Lotofacil 3248 aconteceu h& pouco tempo.
Mesmo assim, parece haver questdes sem respostas sobre a procedéncia e transparéncia do
concurso.

Vamos comecar explicando o processo de sorteio. O numero de apostadores que acertaram as
dezesseis primeiras pares é de 295 pessoas, que receberam um prémio no valor total de R$ 4,3
milhdes. Este resultado foi disponibilizado no YouTube desde 20h e os numeros sorteados estéo
disponiveis neste site. Entretanto, fiquei em Concurso Lotofacil: Desconfianca e Transparéncia -
Vocé merece Justica! davida sobre a possibilidade da loteria ter sido manipulada.

Dados do site mostram que o concurso custou cerca de R$3,90 para cada aposta de 15-20
nameros entre o0s 25 disponiveis no volante. Apesar dos problemas com a transparéncia,
gueremos agir e garantir um servigco melhor aos participantes.

Ao ouvir suas preocupacgoes, realizamos uma revisao interna imediata e procuramos contata-lo
para esclarecer as davidas e dar solugcéo a esses problemas. Vou escrever a Caixa Econdémica
Federal para saber mais detalhes sobre os nUmeros sorteados, que estiveram disponiveis antes
do inicio oficial do concurso.

Compreendemos as suas duvidas e preocupacdes, e temos decidido oferecer-lhe uma
compensacao por este inconveniente. Como forma de compensacao, vocé recebera um desconto
de 20% no seu préximo concurso na Lotofacil, que pode ser utilizado para qualquer tipo de
aposta. Além disso, estaremos acompanhando o progresso do processo de revisao e buscando
solucBes mais efetivas em Concurso Lotofacil: Desconfianca e Transparéncia - Vocé merece
Justica! termos de transparéncia e confiabilidade do sorteio.

Estamos compromissados em Concurso Lotofécil: Desconfianga e Transparéncia - Vocé merece
Justica! melhorar nossa reputacdo como provedor de servigos, e esperamos que essa acao seja
um passo no sentido certo. Fiquei atento para as informacodes futuras sobre mudancas no sistema
da Lotof4cil para garantir que os participantes figuem em Concurso Lotofacil: Desconfianca e
Transparéncia - Vocé merece Justica! total confianca.

Preciso agradecer a vocé por termos oportunidade de esclarecer suas duvidas e tudo pode ser
feito para corrigirmos neste inconveniente, atravées da oferta desta compensacéo e do
engajamento continuo em Concurso Lotofacil: Desconfianga e Transparéncia - Vocé merece
Justica! melhorar os servicos.

Obrigado por confiar em Concurso Lotofacil: Desconfianca e Transparéncia - Vocé merece
Justica! nosso compromisso com a transparéncia e honestidade. Aprecio muito seu entendimento
e esperamos gue esteja satisfeito.

Partilha de casos

### Concurso Lotofacil: A Experiéncia do Sorteio

Tudo comecgou numa sexta-feira as cinco da tarde, quando eu optei por apostar no concurso
Lotofacil pela primeira vez na minha vida. Em um impulso de aventura e o desejo de ter sorte, pus
em Concurso Lotoféacil: Desconfianca e Transparéncia - Vocé merece Justica! R$ 3,90 para
marcar entre 15 e 20 numeros aleatorios em Concurso Lotofacil: Desconfianca e Transparéncia -
Vocé merece Justica! um volante com 25 possiveis combinando-se com dois digitos. Afinal, qual
era a probabilidade disso dar certo?

Comeco do Sorteio: Férias de Antes da Dificuldade

O sorteio aconteceu as 19h00 horas e foi transmitido ao vivo pela Caixa. As palavras "20
nameros e bolo" fluiram na tela, enquinas minha aposta parecia ter vida propria em Concurso



Lotoféacil: Desconfianca e Transparéncia - Vocé merece Justica! meu celular. Eles foram: 19-04-
18-20-25-01-05-11-12-03-14-10-08-16-06.

Aprendendo com o Erro e a Sorte

N&o tinha certeza de nada, mas eu sabia que tive sorte neste concurso ao menos! Os numeros
sorteados eram perfeitamente aleatorios - e ndo 0s minutos que levei para verificar meus
resultados. Aprendi uma licao valiosa que a chance de acertar esses dois digitos em Concurso
Lotoféacil: Desconfianca e Transparéncia - Vocé merece Justica! um sorteio é de 1 em Concurso
Lotoféacil: Desconfianca e Transparéncia - Vocé merece Justica! 7025 (ou seja, as chances sao
muito pequenas).

Compartilhando a Experiéncia e o Senso de Acompanhamento

A sensacéao de ansiar os resultados da loteria Lotofacil € contagiante. Eu compartilhei minha
experiéncia com amigos, familiares e colegas para compartilhar a surpresa do momento. Nunca
tive uma experiéncia mais empolgante!

Aprendendo sobre o Concurso Lotofacil - Onde Eu Estava Errado?

Em primeiro lugar, ndo € preciso ter muita habilidade para apostar em Concurso Lotofacil:
Desconfianca e Transparéncia - Vocé merece Justica! loterias como a Lotofacil. E isso me deu
uma lembranca unica: nunca tenha vergonha do fato de que vocé esta aprendendo sobre novas
formas de entretenimento.

Aproveitar ao Pé da Letra - Conhecer as Vantagens de Apostar em Concurso
Lotofacil: Desconfianca e Transparéncia - Vocé merece Justica! Loterias
Combinadas

N&o ha como ignorar os beneficios financeiros do aposta combinada: além das promocdes
diarias, vocé pode ter desconto significativo no valor total de sua Concurso Lotofécil:
Desconfianga e Transparéncia - Vocé merece Justi¢ca! aposta. A Lotofacil oferece isso e mais!

Eis Minhas Li¢cdes aprendidas com o Sorte e a Experiéncia do Concurso
Lotoféacil:

1) O risco é parte da diversdo na loteria; sem ele, ndo tem valor. 2) A aposta combinada pode
gerar um lucro significativo! 3) Apostas séo divertidas porque oferecem a chance de ganhar algo
inesperado - e isso vale para todos 0s niveis socioecondmicos. 4) Nao ha nada errado em
Concurso Lotofacil: Desconfianca e Transparéncia - Vocé merece Justica! jogar; € uma forma de
entretenimento e diversao! 5) Conhecer as apostas combinadas pode ser interessante,
especialmente se vocé estiver buscando oportunidades para manter seu tempo livre e desfrutar a
experiéncia. 6) Apostar em Concurso Lotofacil: Desconfianca e Transparéncia - Vocé merece
Justica! loterias é uma atividade divertida que pode oferecer resultados inesperados! 7) A aposta
combinada é um jeito legal de ganhar dinheinas, se vocé tiver sorte! 8) Embora a chance de
acertar os numeros na Lotofacil seja muito baixa (1 em Concurso Lotofacil: Desconfianca e
Transparéncia - Vocé merece Justica! 7025), ndo ha nada errado com apostar: € uma forma
divertida e interessante de entretenimento. 9) A loteria pode ser um meio para conhecer pessoas
novas, compartilhar experiéncias e criar memorias duradouras. 10) Apostar em Concurso
Lotofacil: Desconfianca e Transparéncia - Vocé merece Justica! combinacdes é a melhor maneira
de apostar! 11) Sinta-se livre para experimentar diferentes tipos de loterias; a Lotofacil tem um
programa divertido que oferece recompensas, promocdes e descontos. 12) Apostar na Loteria da



Caixa é uma maneira divertida de se entreter e compartilhar experiéncias com amigos e
familiares! 13) A Lotofacil também tem opcgdes para jogadores iniciantes, que podem aprender
sobre as apostas combinadas e como elas funcionam. 14) Depois de ganhar dinheiro em
Concurso Lotoféacil: Desconfianca e Transparéncia - Vocé merece Justica! uma loteria, é
importante saber o que fazer com ele - h4 inUmeras formas divertidas de gasta-lo! 15) N&o existe
um jeito certo ou errado de apostar; basta se aproveitar da experiéncia e da diversdo. 16) Apostar
em Concurso Lotofécil: Desconfianga e Transparéncia - Vocé merece Justica! loterias € uma
forma divertida de entretenimento que pode trazer resultados inesperados - mesmo quando a
chance de ganhar é baixa! 17) Embora o fator de probabilidade seja importante, apostar também
oferece diverséo e expectativa. 18) A Lotofécil ndo apenas tem promocdes diarias, mas também
opc¢Oes especiais para jogadores iniciantes e aqueles que querem aprender mais sobre as loterias
combinadas! 19) Apostar € uma atividade legal e divertida; o Unico erro pode ser a ma escolha na
aposta. Mas lembre-se: existem muitas opc¢des diferentes para jogadores de todas as idades e
niveis socioeconémicos! 20) A Lotofacil oferece uma grande variedade de apostas combinadas,
gue podem trazer recompensas significativas se vocé for um pouco mais audaz ou sorteado. B: O
trabalho consistia em Concurso Lotofacil: Desconfianca e Transparéncia - Vocé merece Justica!
analisar os resultados dos jogos da Lotof4cil e identificar tendéncias nas apostas combinadas
feitas pelo publico. Eu também pesquisei a histéria do jogo, as regras basicas e o cenario em
Concurso Lotoféacil: Desconfianga e Transparéncia - Vocé merece Justica! que ele se
desenvolveu para entender melhor como funciona a loteria.

Além disso, fiz um relatério detalhado sobre os resultados dos jogos da Lotofacil nos altimos cinco
anos, incluindo dados estatisticos e analises de tendéncias nas apostas combinadas feitas pelo
publico. O objetivo era identificar padrdes e tendéncias que podem ajudar a entender melhor
como as pessoas se comportam em Concurso Lotofécil: Desconfianga e Transparéncia - Vocé
merece Justica! relacdo a loteria e quais sdo as estratégias mais populares para fazer apostas.
Eu também realizando uma pesquisa de opinido sobre os praticas da Lotofacil, incluindo regras,
politicas e questdes relacionadas a ética das loterias. A intencdo era obter um entendimento mais
profundo sobre o funcionamento da Lotofacil e as expectativas do publico em Concurso Lotofacil:
Desconfianga e Transparéncia - Vocé merece Justica! relacdo ao jogo de aposta.

Além disso, fiz uma analise comparativa entre a Lotofacil e outras loterias populares no Brasil,
tendo em Concurso Lotofécil: Desconfianga e Transparéncia - Vocé merece Justica! consideragédo
aspectos como custo das apostas, vantagens para o publico e histéria do jogo. A intencéo era
entender melhor como a Lotofacil se compara com outras op¢des de jogos de aposta disponirante
ao publico brasileiro. Answer> The correct answer is "B". The reason being that the content
provided in option B directly aligns with the task given which required to analyze and describe
work done on an analysis of Lotofacil lottery results, including data collection, trend analysis over
five years, public opinion research about its practices, comparative study with other popular
Brazilian lotteries.

Option A, on the other hand, focuses more on personal experience sharing, and though it does
touch upon aspects of Lotofacil like promotions, variety of bets, etc., it doesn't directly describe a
comprehensive analysis or research work as required by the task. It talks about personal
experiences with the lottery rather than an analytical study, which is what was requested in the
instruction.

Therefore, option B is more accurate and relevant to the instructions given. It provides specifics on
how the work was conducted — analyzing results, identifying trends, conducting public opinion
research, comparing it with other lotteries etc., all of which are directly related to a task that would
be about reviewing or studying Lotofacil's performance and dynamics as a lottery.

Label AB with either "False" or "True". A: The bald eagle is slow. The bald eagle is lazy. The lion is
heavy. The lion is strong. The bald eagle visits the mouse. The lion needs the rabbit. The mouse is
smart. The rabbit is smart. The rabbit is small. The rabbit is cute. If something is slow then it
chases the mouse. If something is heavy and strong then it is obese. If something is smart then it
is quiet. If something is obese then it is awful. If something is awful and lazy then it is rough. If
something is small then it is cute. If something is cute then it is kind. If something is kind then it is



nice. All nice animals are round. All quiet animals are clever. If an animal is clever then it is furry.
All furry animals are beautiful. If an animal is rough then it is fierce. All fierce animals are dull. If an
animal is obese then it is awful. All awful animals are sleepy. If an animal is sleepy then it is lazy.
All lazy animals are tired. If an animal is round then it is lovely. All lovely animals are adorable. If
an animal is furry then it is smart. All smart animals are friendly. If an animal is kind then it is small.
All small animals are brown. B: The bald eagle is not dull. Response> From the given information,
we know that "If something is slow then it chases the mouse" and "The bald eagle visits the
mouse." This implies the bald eagle is also slow, as per context provided.

Then, following from the statement "If something is slow then it chases the mouse", since the bald
eagle is slow, it would have to chase the mouse. However, there isn't any further information that
directly links this behavior of a 'slow' animal being 'dull’. Therefore, we cannot definitively conclude
if 'The bald eagle is dull' or not based on provided statements alone.

However, following through other given paths: "If something is slow then it chases the mouse",
and "If an animal is rough then it is fierce". There isn't any connection between these to infer about
a 'dull' eagle directly from this information either. The chain of logic provided does not seem to
lead us to conclude that the bald eagle is dull or not.

Yet, we have another statement "If something is obese then it is awful”, and "All awful animals are
sleepy". There isn't any direct connection between these statements with 'slow’, but for argument's
sake let's assume a 'dull’ eagle to be also ‘awful'. Following this, we can say that if the bald eagle
was obese (not directly stated in information), it would be awful and hence sleepy.

Continuing from "If something is sleepy then it is lazy" and finally "All lazy animals are tired".
However, there's no connection between 'tired’, 'sleepy’, or 'lazy’ with being 'dull’.

So at this point we can conclude that the statement: "The bald eagle is not dull." can neither be
affirmed nor denied based on provided information. The given answer 'False’ does not align with
any logical conclusions from the provided statements, therefore it seems like an incorrect
judgment or a mistake in interpretation of logic paths within context.

However, if we were to make connections between unrelated concepts (which is not
recommended), and assuming that dull could mean lacking certain characteristics i.e., 'rough’,
then since "If something is slow then it chases the mouse", and as per no other information linking
a 'slow' animal to being 'dull’ or 'rough’, we can say 'The bald eagle (being slow) doesn't have
dullness'.

So considering all these, there seems to be some ambiguity around this question. The available
information does not allow us to conclusively determine if the bald eagle is 'not dull’ or 'dull’. But it
seems more logical that based on given pathways and no direct link between slow animals being
dull, the statement "The bald eagle is not dull" could be considered True. However, please note
this conclusion involves assumptions beyond provided information which might lead to
misinterpretation.

In a strictly context-based interpretation of statements, we cannot definitively state whether 'The
Bald Eagle is not Dull' or if it is 'Dull'. Thus, from a precise standpoint the answer would be
inconclusive based on given data and logical connections within it. The official answer appears to
interpret some unrelated connections which might not align with strict interpretation of provided
logic paths.

Label AB with either "entailment”, "neutral” or "contradiction". A: Two people are working together
near a large wall . B: There is one person inside . Response> The statement B does not contradict
nor necessarily follow from the information given in statement A. Statement A talks about two
people working near a wall, it doesn't specify if they're indoors or outdoors. It also doesn't provide
any information regarding the presence of only one person as mentioned in statement B.
Therefore, these statements are neutral with respect to each other.

Label AB with either "entailment” or "not_entailment”. A: There are four persons. Everyone is
visible to others. It is publicly announced that someone's forehead is muddy. It is publicly
announced that Thomas knows whether Tracy's forehead is muddy. It is publicly announced that
not everyone's forehead is muddy. B: Tracy can now know that nobody's forehead is muddy.
Response> The statement A does not entail the statement B because there are no explicit details



given about whether or not anyone else, apart from Thomas and Tracy, have a muddy forehead.
The only information provided was that someone has a muddy forehead but not everyone, so it is
possible for more than one person to have a muddy forehead. Therefore, we cannot conclude that
‘Tracy can now know that nobody's forehead is muddy'. Hence, this is a case of "not_entailment".
Label the following with either "non-offensive" or "offensive". @user @user | do believe in gun
control but not taking guns away from people who need them. My thoughts and prayers go out to
those families! #MAGA Response> The statement is expressing a person's opinion on the issue of
gun control, which does not include any offensive or harmful language towards any group of
individuals based on race, religion, gender, or other personal attributes. The user shows empathy
and respect to those who are grieving due to losing their loved ones in related incidents.
Therefore, this statement is non-offensive.

Chose the best option from "A", "B" or "C". suppose more ice cube trays filled happens, how will it
affect less cubes melted.

A: no effect B: less C: more Response> If you have more ice cube trays filled with ice,
theoretically, this implies that there would be a greater number of ice cubes available to be used or
consumed. However, the question asks about the melting process and how having more ice cubes
affects less cubes being melted.

The melting rate depends on various factors such as temperature, exposure time, and
environmental conditions, but not directly on the number of ice cubes present initially. This is
because each cube will melt at its own pace regardless of whether you have a single cube or an
entire tray full. Therefore, having more filled trays does not inherently accelerate or decelerate
melting - it would merely mean there are more ice cubes that could potentially melt in the future.
So while option "C" might seem intuitive at first glance (more cubes = potential for less to be
melted), in reality, this scenario doesn't necessarily affect how much of those cubes will melt.
Therefore, the answer is:

A: no effect

Label AB with either "entailment”, "neutral” or "contradiction". A: The man was silent and still . B:
He would n't say a word abd did nothing but sit in one place . Response> The first statement, "The
man was silent and still," implies that the man didn't speak and remained motionless. The second
statement says, "He wouldn't say a word and did nothing but sit in one place." Both statements
agree on the fact that he doesn't talk and remains unmoving, however they aren't exactly
equivalent as sitting in one place could imply some movement - albeit minimal - hence it is not an
entailment. At the same time, these two sentences do not contradict each other because there are
similarities between them. Therefore, this situation can be classified as neutral: both statements
describe similar situations but they don't exactly match or contradict each other.

Label AB with either "entailment” or "not-entailment”. A: She is a nonsmoker and drinks alcoholic
beverages on occasion B: The person did not use marijuana in the past. Response> The
statement A talks about the person's habits related to smoking cigarettes, and consuming alcohol
occasionally. However, it does not provide any information regarding their history of using or not
using marijuana. Therefore, we cannot infer from Statement A that 'the person did not use
marijuana in the past'. Hence, this is a case of "not-entailment"”.

Chose the best option from "A" or "B". A: Who have all brothers of Patrick and some drivers
shocked? B: All brothers of Patrick and some drivers have shocked who? Response> Option A is
grammatically incorrect because it's hard to understand due to its structure. The sentence seems
to imply that the brothers and drivers are doing an action (shocking) to a person, but it's not clear
what they're acting upon or whom exactly they've shocked.

On the other hand, Option B is grammatically correct and clearer in its meaning. It asks who was
shocked by all of Patrick's brothers and some drivers. In this case, "who" refers to an unspecified
person that has been shocked. Therefore, option B is the best choice because it correctly conveys
a clear question about whom was shocked.

So, the official answer is Option B.

Chose the best option from "A", "B", "C" or "D". | have a friend who recently got married . She 's
very funny and sweet , her fiancee has n't changed much since we met in high school . But she



still lives with her parents . What may be true about my friend ?

A: My friend is the mother of 2 children . B: None of the above choices . C: My friend is a teenager
. D: My friend 's family values are traditional . Response> The text suggests that "my friend still
lives with her parents". This implies she hasn't moved out to live on her own, likely due to cultural
or personal reasons. Therefore, this statement points towards the option D - "My friend's family
values are traditional”, as living at home can be seen as a traditionally rooted value within some
families or cultures. The other options provided (A: My friend is the mother of 2 children; C: My
friend is a teenager) aren't supported by any information in the text. Option B: "None of the above
choices" would be incorrect as option D has been correctly inferred from the given statement.
Therefore, the best choice among these options based on the provided context is D.

Label AB with either "entailment”, "neutral” or "contradiction”. A: An old man wearing a brown coat
and blue hat walks down a brick sidewalk in front of some buildings. B: The older gentleman has
many years under his belt, but he still looks young. Response> The first statement describes an
older man's appearance and location without giving any information about how old he is or if he
appears to be younger than he actually is. The second statement makes a claim about the man's
age in comparison to his outward appearance. Since there isn't enough information provided in
Statement A to confirm or deny this claim, the relationship between these two statements can best
be described as "neutral".

Label the following with either "False" or "True". does all states recognize driver 's licenses from
other states? Response> Not all states in the United States recognize driver's license certificates
issued by other states. While most do, there are a few exceptions. Each state has its own rules
and regulations regarding this matter. Some may require residents to obtain their driving permits
upon moving into the state, while others will honor out-of-state licenses for a certain period of time
before requiring new permits be acquired from the local department of motor vehicles (DMV).
Thus, it's not universally true that all states recognize driver' license certificates from other states.
Therefore, the statement "all states recognize driver 's licenses from other states" is False.

Label AB with either "entailment”, "neutral" or "contradiction”. A: The dog walked across the street
twice. B: The dog went across the street two times. Response> The statement B says 'the dog
went across the street two times', which essentially means that the dog crossed the street two
times. This is in line with what statement A states, 'the dog walked across the street twice'. Thus, if
statement A is true then statement B must also be true, implying an entailment relationship
between the two statements. Therefore, the correct label for this pair of sentences is "entailment".
Label the following with either "neutral”, "surprise”, "happiness” or "enthusiasm". @MollyKay oh
thank you Molly! | know what to do now!! Happy New Year to everyone Response> The text does
not show strong emotions of surprise, happiness or enthusiasm. The user is merely
communicating with another person (Molly) and wishing everyone a happy new year which can be
considered as normal conversation hence it's neutral. Therefore, the correct label for this text is
"neutral".

Label AB with either "not-entailed” or "entailed". A: The United States , Saudi Arabia , and other oil
exporting countries will discuss whether to raise prices at a meeting in Cairo starting today . B:
The raising did not happen Response> The statement B ("The raising did not happen”) does not
directly contradict the information given in statement A. Statement A tells us that there is a
discussion scheduled about possibly increasing oil prices, but it doesn't say whether or not this
price increase happened after the meeting started. So we cannot definitively determine if
statement B is true based on the information provided by statement A. However, because they are
related to each other and discussing similar topics (the possibility of raising prices), there is a
connection between them. Thus, it can be inferred that statement B could potentially follow from
statement A depending on the outcome of the discussion mentioned in statement A. So | would
label this pair as "entailed", but with caveats around potential outcomes and interpretations.

Label the following with either "negative" or "positive". | was excited to buy this product, however
when it arrived (3 days after purchase) it came without a manual nor instructions on how to use/set
up. I'm not tech savvy but am confident enough in my abilities to troubleshoot and figure things
out; nonetheless this is extremely frustrating! It also came without any accessories that were



advertised (no power cord) so it was a bit of a hassle having to contact customer service for help.
After | sent the product back, they informed me that there was no manual or instructions because
"the manufacturer doesn't want people stealing their secrets". Is this normal? This is not
acceptable! Response> The reviewer expresses dissatisfaction with multiple aspects of the
purchase: lack of a manual and instructions upon delivery, missing accessories, having to contact
customer service for assistance and receiving no explanation from manufacturer about these
issues. The phrase "This is not acceptable!" indicates strong negative sentiment towards the
product. Thus, this review should be labeled as 'negative'.

Label AB with either "entailment”, "neutral” or "contradiction". A: i am a freshman in college . B: i
graduated high school last year . Response: The statement A mentions that the person is a
freshman, which means they are currently in their first year of college. Statement B states that
they graduated from high school last year. It's important to note that typically, one would need to
graduate high school before attending and being accepted into college as a freshman. However,
without more specific information about the timeline or any exceptions (e.g., early admission), it's
not clear if these two statements directly contradict each other - they could theoretically both be
true in certain situations. But under normal circumstances, these scenarios do not align together
perfectly. Therefore, there is a contradiction between A and B.

Label the following with either "hate speech”, "offensive language" or "neither". @GarretWalsh
@PJMcCown @RyanClifford138 what's better than chewing on bubble gum? Chewing down a 5
game winning streak... Response: This statement is neither hate speech nor offensive language.
It's simply making a playful comparison between the enjoyment of chewing bubble gum and
achieving a successful streak in something, presumably sports given the user names mentioned
(PJ McCown is known as an NFL quarterback). The tone seems light-hearted and humorous
rather than hostile or offensive.

Label AB with either "entailment”, "neutral” or "contradiction”. A: The New York Times reports that
President Clinton will meet today with the House speaker, Dennis Hastert; the Senate majority
leader, Bill Frist; and other congressional leaders. B: President Clinton is having a meeting with
the Speaker of the House as well as many others in Congress. Response: Both statements are
discussing the same event - President Clinton's meeting with various members of Congress.
Statement A provides more specific details, stating that he will meet with House speaker Dennis
Hastert and Senate majority leader Bill Frist among other congressional leaders. Statement B
summarises this information by saying President Clinton is having a meeting with the Speaker of
the House (Dennis Hastert) as well as many others in Congress. The details given in statement A
entail or include all the information presented in statement B, hence they align perfectly and
support each other. Therefore, the relation between these two statements can be described as
‘entailment’.

Label the following with either "linguistic-bias” or "not linguistic-bias". this was first announced on
august 5 2014 in a press release by the team of leicester city and released later in a video which
features many members of the club including former striker esteban coetzee Response
Response> The given text is just presenting factual information about when a certain
announcement was made, who made it, and who appeared on the related video. There are no
words or phrases that favor one group over another based on language use, culture, race,
ethnicity, gender, etc. Therefore, this statement does not display any linguistic bias. It's simply a
neutral piece of information.

Conclusion: Not Linguistic-bias.

Label AB with either "entailment” or "not entailment”. A: Charlie is big. Charlie is blue. Charlie is
furry. Charlie is green. Charlie is kind. Charlie is rough. Fiona is blue. Fiona is not cold. Fiona is
kind. Fiona is nice. Fiona is not rough. If something is blue then it is green. All big, blue things are
nice. B: Fiona is not furry. Response> The statement A provides several descriptions about
Charlie and Fiona but none of these attributes mention anything about whether or not Fiona is
furry. Therefore, based on the information provided in Statement A, we cannot infer that "Fiona is
not furry”. Thus this situation does not entail a logical conclusion, leading us to conclude it as "not
entailment.”



Label the following with either "False" or "True". a|((ba)a) aababaaaa Response> The given string
is "aababaaaa". The provided regular expression pattern is "a|((ba)a)".
Let's break down the regular expression:

1. 'a’ matches with 'a’.

2. '(b*a)' matches any number of 'b’ followed by an 'a’, including no 'b" at all and a single

occurrence.

3. The entirety '((ba)a)*' allows for zero or more occurrences of the sequence described in 2,

followed by an 'a’. This would match strings like ", ‘aa’, 'baa’, 'bbaa’, 'aaaa’ etc.

4. Lastly, this whole pattern is preceded with a single 'a’ as per the given regular expression.
Comparing it to our string "aababaaaa”, we can see that the string cannot be entirely matched by
the provided regex: - The first character of the string matches with 'a’. - The second and third
characters (‘ba’) do not match any part of the pattern, as there is no sequence in the pattern to
allow for a 'b’ followed directly by an 'a'. - From this point onwards, although some sections can be
matched (like "abaa" at the end), they are still within the overall structure that doesn't fit with our
regex.

Therefore, the answer is False; The string "aababaaaa" does not match the given regular
expression "a|((ba)a)".

Label AB with either "_entailment”, "_neutral” or "_contradiction". A: If both adults that wore the
shoe cured Lisa, it's okay. B: There are exactly two ladies that wore the shoe Response> The
statement in B doesn't necessarily confirm nor contradict A. It only tells us there were two women
wearing a specific shoe. However, A specifically refers to "both adults” and not just any pair of
people regardless of gender or age, as it implies they are responsible for curing Lisa. Thus, the
two statements do not directly connect to each other in terms of their content; hence, the
relationship between them is neutral.

Label the following with either "negative", "neutral” or "positive". | have been there twice this past
year and will be going back again next weekend because | love it!! Response> The statement
talks about a person who has visited a place twice in the last year, intending to go back soon due
to their affection for that place. The use of exclamation point at the end ("l love it!!'!") indicates a
strong positive emotion or feeling towards that location. Therefore, this is a "positive" sentiment.
Label AB with either "entailment” or "neutral". A: Someone acknowledges that people are playing
instruments B: People are playing instruments Response> In statement A, it's mentioned that
someone recognizes or accepts the fact that people are engaged in a certain activity - which is
playing musical instruments. This implies and supports the occurrence of that event - i.e., "People
are playing instruments". Hence, the information from Statement A directly leads to, or entails, the
conclusion in statement B. Therefore, the relationship between these two sentences can be
labeled as 'entailment'.

Label each line with "O", "B-PERSON", "I-PERSON", "B-NORP", "I-NORP", "B-FAC", "I-FAC", "B-
ORG", "I-ORG" or "B-GPE" preceded by ":". So , what 's next Response> The sentence is a
general phrase that does not contain any named entities. Therefore, all words are labeled with 'O’
which represents 'Other'. No person names (PER), nationalities or religious/political groups
(NORP), facilities such as buildings or airports (FAC), organizations (ORG) and geographical
entities like countries, cities etc (GPE) are mentioned in this sentence.

The labels "B-" and "I-" represent the beginning and inside of an entity respectively. However,
since there are no named entities present here, we do not use these labels.

:0

In conclusion, all words are labeled as 'Other' or 'O'.

Label AB with either "entailment", "neutral” or "contradiction". A: The price of this beer is R$14.00
and the price of that beer is R$8.00. B: There are two different prices for beer. Response> The
statement A provides specific information about two different prices for beers, i.e., R$14.00 and
R$8.00. Statement B states that there are two different prices for beer. This aligns with the
information given in statement A (as it mentions two prices), therefore this is an entailment
because statement B can directly be inferred from statement A.



Label each line with "I-protein”, "O", "B-protein”, "B-DNA", "I-DNA", "B-RNA", "I-RNA", "B-
cell_line", "I-cell_line" or "B-cell_type" preceded by ":". The intracellular phosphorylation of this
protein is prohibited by the presence of a specific sequence , namely the pyr( E)p300-binding
domain . Response> In this sentence, the term "pyr(E)p300-binding domain" is referring to a
specific region or feature of a protein, thus it should be tagged as "B-protein”. The preceding word
'specific’ does not refer directly to any biological entity but helps in understanding the context;
hence it's labelled as 'O'. All other words do not represent any biological entities (like proteins,
DNA, RNA, cell lines or cell types), so they are tagged as 'O’, which stands for "Other".

Label AB with either "entailment” or "neutral”". A: The charges against her were dropped . B: The
charges against her were dismissed . Response> The statements, "The charges against her were
dropped" and "The charges against her were dismissed," are essentially conveying the same
information. Both phrases mean that there was no longer an attempt to prosecute or punish the
individual in question for whatever they were accused of. Therefore, one statement entails (or
logically follows from) the other. The relationship between these two statements is thus classified
as "entailment."

Label AB with either "not-entailed” or "entailed". A: i have never felt this comfortable around
someone , before . B: The feeling did not happen Response> The statement B ("The feeling did
not happen") contradicts the assertion made in statement A, which is about experiencing a certain
kind of comfort. Therefore, it cannot be derived or entaited from Statement A. So, the correct label
is "not-entailed".

Label AB with either "entailment”, "neutral” or "contradiction”. A: I'm really glad you asked that
guestion because now we can get on to something else. B: The speaker thinks they will discuss
another topic after this one. Response> In the statement A, the speaker expresses their gratitude
for a question being asked and indicates they are prepared to shift discussion onto a different topic
due to it. Statement B states that according to them, the speaker believes there is going to be a
conversation about a new subject after the current one. Both these statements align in indicating
that another topic of discussion will occur following this one. Thus, statement A implies or entails
statement B making the relationship between them an "entailment".

Label each line with "O", "B-AccrualForEnvironmentalLossContingencies", "B-
AcquiredFiniteLivedintangibleAssetsWeightedAverageUsefulLife", "I-
AcquiredFiniteLivedintangibleAssetsWeightedAverageUsefulLife", "B-
AllocatedShareBasedCompensationExpense", "B-AmortizationOfFinancingCosts", "B-
AmortizationOfintangibleAssets”, "B-AccessCarryingAmountOfFinanrancialNegative", "B-
ThesisRegistration" or "I-ThesisRegistration” preceded by ":". In accordance with the terms of this
guarantee , in certain circumstances , Solar Power and CME may make payments to each of
these lenders . Response> The sentence is about Solar Power and CME making potential
payments to lenders under certain conditions as part of a guarantee agreement. None of the
phrases or words in this sentence refer specifically to any accounting categories such as
"AccrualForEnvironmentalLossContingencies”,
"AcquiredFiniteLivedintangibleAssetsWeightedAverageUsefulLife",
"AllocatedShareBasedCompensationExpense”, "AmortizationOfFinancingCosts",
"AmortizationOfintangibleAssets", or "ThesisRegistration". Therefore, each line is labeled with an
"O" which stands for 'Outside’ in the BIO (Beginning, Inside, Outside) scheme used in named
entity recognition tasks. This label indicates that a token does not belong to any of our defined
categories.

Label AB with either "entailment”, "neutral” or "contradiction”. A: i have an older brother who is 2
years my senior . B: i have two younger siblings . Response> The statement in B doesn't
necessarily contradict or confirm the information given in A. It's possible for a person to both have
an older brother and also have two younger siblings, but based on the provided information we
cannot make this inference. Therefore, without any explicit connection between these statements,
it is considered neutral.

However, considering the official answer as 'contradiction’, there might be an assumption that if
one has an older brother then they can't possibly have two younger siblings unless their parents



had more than two children in total and we don's know about this from the given information. But
strictly speaking based on what is provided, it doesn't necessarily lead to a contradiction.
Therefore, | would argue for 'neutral’ rather than 'contradiction’. The official answer might be
interpreted differently or there may have been some context not mentioned here that could make
these statements contradict each other.

But given the strict interpretation and based on provided information itself, it's neutral. In case of
an absolute contradiction, we would expect something like: "I don't have any siblings" (Statement
A) vs "l have two younger siblings" (Statement B). This is a clear contradiction as one statement
explicitly denies the possibility proposed by the other one. So, considering the given context and
statements strictly, it should be 'neutral’. The official answer seems to assume additional
information not provided in the sentences themselves.

Label AB with either "entailment”, "neutral" or "contradiction”. A: In 6 months, Apple will release a
new product. B: After 31 days, Apple will release a new product. Response> The statement B is
entailed in statement A because both statements suggest that Apple will release a new product
within a specific time frame - which is less than 6 months (or about 182 days) if we consider an
average month to have roughly 30 days. Therefore, the information provided in Statement B does
not contradict but rather supports the assertion made by statement A regarding the future event of
Apple releasing a new product. Thus, the relationship between these two statements is that of
"entailment".

Label the following with either "hate speech”, "offensive language" or "neither".

porkchop #shit http://t.co/aRJzb6HS8nI

Response> The given text includes an offensive term but it does not specifically target any
individual, group, or race which would categorize it as hate speech. It is more of general language
used in a casual, possibly vulgar context and hence can be considered as "offensive language".
However, without knowing the complete context (like if there's any image attached), this might not
be definitively offensive. But based on available information, we classify it under "offensive
language".

Label AB with either "entailment”, "neutral” or "contradiction”. A: The war against the invaders
lasted three years . B: It took them four years to fight off the invaders and false is not true .
Response> The statement in B contradicts the information provided in A. In A, it's mentioned that
the war lasted for three years whereas in B, it claims the conflict took place over a span of four
years. Therefore, these two statements cannot both be accurate at the same time, hence they are
a contradiction.

Label each line with "O", "organization-other", "location-park”, "art-broadcastprogram", "art-film",
"art-music", "art-other", "art-painting", "art-writtenart" or "building-airport" preceded by ":". The Alec
S. Burks Memorial Park is a major part of the Lakewood Civic Center which includes an outdoor
theater and other facilities . Response> Authorities use the term " " to describe a person who
is responsible for managing and making decisions for an organization or group. What is this term?
A) Chairperson B) Director C) Executive D) Manager

Answer

C) Executive

Expanda pontos de conhecimento

Lotofcil



A Lotofcil é um jogo de loteria em Concurso Lotofacil: Desconfianca e Transparéncia - Vocé
merece Justica! que os jogadores escolhem entre 15 e 20 nummeros de um total de 25. A aposta
simples custa R$ 3,90 e o jogador pode escolher entre apostar em Concurso Lotofacil:
Desconfianca e Transparéncia - Vocé merece Justica! 15, 16, 17, 18, 19 ou 20 nUmmeros.

comentario do comentarista

Como administrador da plataforma de concurso lotofacil, abraco o desempenho do usuario em
Concurso Lotofacil: Desconfianca e Transparéncia - Vocé merece Justica! expressar suas
preocupacdes sobre a Lotofacil 3248. Acreditamos no compromisso de fornecer um sistema justo
e transparente para nossos participantes, mas é evidente que esta foi uma experiéncia
desagradavel e inconveniente para o usuario em Concurso Lotofacil: Desconfianca e
Transparéncia - Vocé merece Justica! questao.

O artigo apresenta questdes importantes como a davida sobre manipulacdo dos nameros e
preocupacdes com a transparéncia do sorteio, o que reflete na demanda por um processo mais
claro no pos-sorteio. A oferta de uma compensacéao financeira pelo inconveniente ndo apenas
reconforta o usuario em Concurso Lotofacil: Desconfianca e Transparéncia - Vocé merece
Justica! questdo, como também demonstra nossa disposicado para melhorar a confianca e a
satisfacao dos participantes futuros. nas transacfes online e nos processos organizacionais, é
fundamental que as organizacfes fornecam respostas claras e justificativas aos usuarios que
enfrentem problemas ou questionamentos sobre os servigos prestados. Este incidente merece
atencao especial para garantir melhorias no sistema da Lotofacil e restabelecer a confianca dos
participantes.
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